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POVERTY
Question 4:

How can creation of income earning assets address the problem of poverty?
ANSWER:

The income earning assets are those assets the ownership of which are
controlled and owned by the members of a household. These are land, capital, labour
and different levels of skills. Poverty and inequality of income arises due to improper
distribution of and access to such income-earning assets. The labour skills of the
poverty-trodden population are usually traditional and poor in quality that consequently
leads to poor income and employment opportunities. Moreover, a substantial proportion
of population is engaged in the small scale production that often lacks capital and
modern technology. Consequently, such techniques directly hamper the income earning
capabilities of small scale industries. In addition to this, poor people often lack access to
social services like proper medical and health care facilities, better education, proper
sanitation, etc. The lack of access to such social services affects health, productivity and
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In order to alleviate the problem of poverty, the role of income earning assets
cannot be substituted. There are various measures that can create income earning
assets for the poor people like providing proper access to easy credit, capital, monetary
assistance, imparting technical skills, allotment of land to the landless and marginal
farmers and better access to education, health services along with better access to
information and support services for increasing their productivity. All these measures
directly or indirectly contribute positively to the quality of human capital and their
endowment of income-earning assets. This in turn leads to increase in the income
opportunities and earning capabilities, thereby, contributing to the alleviation of poverty.
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Question 5:

The three dimensional attack on poverty adopted by the government has not succeeded
in poverty alleviation in India. Comment.

ANSWER:

In order to alleviate poverty, government has adopted the following three dimensional
approaches:

(i) Trickle-down Approach- This approach is based on the expectation that the positive
effects of economic growth will be trickled down or benefit all sections of the society and
also the poor people.

(if) Poverty Alleviation Approach- This approach aimed at the creation of income-
earning assets and employment generation opportunities.



(iii) Providing Basic Amenities- This approach aimed at providing the basic amenities
like proper medical and health care facilities, better education, proper sanitation etc. to
the poor people. These basic amenities positively affect health, productivity, income-
earning opportunities and, thereby, alleviate poverty.

A thorough analysis of the three dimensional approach yield the following conclusions:

1. Although there has been a reduction in the percentage of absolute poor in some
of the states but still the poor people lack basic amenities, literacy, and
nourishment.

2. Secondly, there has not been significant change in the ownership of income-
earning assets and productive resources.

3. Thirdly, land reforms do not have high successful records (except West Bengal
and Kerala) that further added to the inequality of income from land.

4. Fourthly, lack of capital and availability of easy credit, lack of modern technology
and poor access to information and marketing became the major bottlenecks for
the small productive houses like cottage industries and other small scale
industries.

5. Fifthly, improper implementation of poverty alleviation programmes by ill-motivated
and inadequately trained bureaucrats further worsened the situation.

6. Sixthly, corruption along with the inclination towards interest of elites led to an
inefficient and misallocation of scarce resources.

Therefore, it can be summed up that although various poverty alleviation programmes
were well planned on papers but these were not implemented properly.

Question 6:

What programmes has the government adopted to help the elderly people and poor and
destitute women?

ANSWER:

The government has adopted various programmes to help the elderly people and poor
and destitute women. One of such programmes is National Social Assistance
Programme, introduced by the central government. This programme targets elderly
people, widows and the poor and destitute women who are alone and have no one to
take care of them. Under this programme, these targeted people are given pension to
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